GRADE 6 SAMPLE ITEMS

1. Place Value - MC

In which number does the 2 have the least value?

O 2954
O 3286
O 6125
® 9052

2. Pictorial Representation of Numbers - MC

What fractional part of the figure is shaded?

O O ® O
W=

| 2. Pictorial Representation of Numbers - OE

Shade in 0.85 of this figure.

Each [] = 0.01
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3. Equivalent Fractions, Decimals and Percents - MC

Which fraction means the same as 0.5?

1
© 10
1
© 5
1
© 2
o >
100

4. Order, Magnitude and Rounding of Numbers - MC

2 The chart shows the time Trent spent walking
his dog each day this week.

Time Spent Dog Walking

on | b
Monday 1+
Tuesday N

Wednesday T
Thursday 1
Friday 1T

Which list shows the days in order from the
most time to the least time spent walking
the dog?

O Monday, Wednesday, Thursday,
Tuesday, Friday

Friday, Monday, Tuesday, Thursday,
Wednesday

@)

O Wednesday, Thursday,'Tues'day, :
Monday,_ Friday

®

Friday, Monday, Thursday, Tuesday,
Wednesday '
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4. Order, Magnitude and Rounding of Numbers - MC

12 The “x” on the number line most likely
represents which integer?

l RV I
I e I

-10 5 0 5 10
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5. Models for Operations - OE

Write a story problem that can be solved using the number sentence

$7.96 — $0.49 = [.

S2A Write a 'story problem that can be solved using the number sentence

$7.96 — $0.49 = 1.

Joen hﬂa $7.96  whex o wml o Adeds
i T c.om(\u L&)h,m e cm‘\‘ P e,

he, only coorded o muce ok e waldieh 2

méc Vi ya b, oo modn Aid e \’w\ue
e o&ec buy}rgg. g j&xmf

S2B Write a story problem that can be solved using the number sentence

$7.96 — $049 0. 4

l

| | ﬁmﬁtmhﬂuﬂlﬁr_@ﬁ&sﬁnﬂﬁw
oo\, F - for Uq‘@(. Hous rouch mlrf‘*i! Lasl\

. e \CSX .

N

cs_\?,.?ik&
.44
G. 71

F - — Sie T R S --.. wan w1 oo ’._ — P _.,, e e _.'_'.‘-'_'-_EJ-\.J‘-..
S2C:. Writea story problem that canbe solved ¥ usmg the nusnber sentence:

o s nglioe swgs $0.49 =10,

T en¥ Yo M. woll wikih ﬂ?% L0 fw ,ﬂétie)L
z ém{f}ﬁ--{{. & foenci) P@fﬂ(ﬁcﬁ —.f ")uop ﬂf["i’ '47 E&JZ-L
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6. Basic Facts - GR

6 X7 =01

7. Computations with Whole Numbers and Decimals - GR

1170 + 790 =
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7. Computations with Whole Numbers and Decimals - MC

93 x 2 =

1860
186
18.6
1.86

ONOXOX®),

8. Computations with Fractions and Integers - MC

ol =
X
I
Il

alh Bla

—
Y Y

O O ® O

8

| 9. Solve Word Problems - MC

Derrick jogs 1.7 miles every day. How many
miles did he jog in 14 days?

238
218

23.8
21.8

O®O0O0
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9. Solve Word Problems - OE

§-1 Donyiel found some rocks for his collection that cost $1.65 each and decided to buy 5 of
them. He paid for the rocks with a ten dollar bill. How much change did he receive? Show

“S1A "l')on'yxéll' found some mcké for his collection that cost $'l .65 each and decided to buy & of
them. He paid for the rocks with a ten dollar bill. How much change did he receive? Show
your work or explam how you found your answer. md

Tonuiel had +o mul‘nDIuﬁlcaS X5 4

_.-.__g_:-g,;,.‘nf come b 4o §2S, So 4% he hod'

§10. TRt Bill

mcks for Hhis conecnon that cost $1.65 each and decided to buy 5 of [
] otks ‘with 4 ten dollar bill. How guch change dld he. recewe? Show
“hiow you. found your answer. /f b5 '

SIB Dony:el found
them. He pald fi
your work or bxp]

. _ iR
AR T
AL
5 AR

SIC Donywl found some rocks for his collectmn that cust $1 65 ‘each and decided to’ buy 5 of .
them. He paid for the rocks with a ten dollar bill. How much change did he receive? Show '~
your work or explain how you found your answer. - :

B Crauoe We TS beca st T
aawplea . (6Sx5 Then T mhmc—ted the
NN ET \bn‘\ T s _ |2
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10. Numerical Estimation Strategies - MC

To estimate the product of 187.3 X 29.4, Deirdre multiplied 190 x 30. Would Deirdre’s estimate
be more or less than the actual product?

O less, because she rounded both numbers up

® more, because she rounded both numbers up

O less, because she rounded both numbers down
O more, because she rounded both numbers down

11. Estimating Solutions to Problems - MC

Charlie bought a telescope for $148.95
including tax. He gave the clerk $200. Which
of the following is a reasonable estimate for
the change Charlie should receive?

A little less than $60
A little more than $60
A little less than $50
A little more than $50

©@00O0

11. Estimating Solutions to Problems - OE

S-4 Tricia’s biology class lasts 48 minutes each day. She noticed there are 19 school days
in October.

Is Tricia’s estimate of 1000 minutes a reasonable estimate of the number of minutes
for biology class during October?

Show your work or explain if this is a reasonable estimate.
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12.

Ratios and Proportions - MC

Tina figured she was charged 5¢ for every

1 minute she talked on the phone to her aunt.

Which shows this same ratio?

QO 10¢ for every 3 minutes
QO 20¢ for every 5 minutes
O 30¢ for every 4 minutes
® 40¢ for every 8 minutes

| 15.

Approximating Measures - MC

—L N

What is the approximate measure of the angle shown above?

N

O 100°
O 110°
O] 170°
O 190°
16. Customary and Metric Measures - OE

S-3 Use your ruler to' measure the lengths of the sides. Label each length in inches.

area of this figure in square inches?

Area:

201

What is the



16. Customary and Metric Measures - MC

Trina had a package that weighed 5.5
kilograms. How many grams is that?

505
550
5050
5500

©@00O0

16. Customary and Metric Measures - GR

Anna picked 8 pints of strawberries. How many quarts of strawberries did she pick?
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17. Geometric Shapes and Properties - MC

This side view of a toy box shows the door
open 170°,

Angle A

What type of angle is Angle A?

Straight
Obtuse
Acute
Right

OXNONOX®)
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18. Spatial Relationships - OE

S-4 Draw a line of symmetry on the figure below.

Explain how you know it is a line of symmetry.

T T : |
S4A Draw aline'6f symmetry on the figure below. g

Explain how you know it is a line of symmetry.

' DUJ( Phe live thert  hepeowse
line af summetry s & 'Wnam)f

T!nﬂ'f MOIJ (I}Jh#en 'h‘)oo oOn ort)eﬁf'

nar-ﬁi ' , d

S4B Draw-a line of symmetry on the figure below..

- Explain how you know it is a line of symmetry,

I Raowr hi suga line. of Siumeity: beG_@wSﬁi’:-_ it

"}{@u Eafd T4 3 N et i il \'a—e_ ENEMN
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18. Spatial Relationships - MC

)

Which of the following represents a reflection
of this shape across the dotted line?

)

© v

O
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20. Statistics and Data Analysis - MC

This graph shows the number of cars sold in
one year.

Car Sales

50

40

Number
Sold

Car Style

Which 3 cars’ combined sales are about as
much as Car Style D?

A, B, and C
A, B, and E
A, C,and E
B, C, and E

ONONOX®)

| 20. Statistics and Data Analysis - GR

Sarina asked 7 girls in her class how many
CDs they buy in a typical month. These are
the results.

3,7,0,4,6,4,2

What is the median number of CDs
bought?
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21. Probability - MC

If Ahmad spins this spinner once, what is

the probability that the arrow will land
[

ona

O ® O O
Nl e ale

|~

| 21. Probability - OE

5-5 The table shows the number and color of gumballs Darlene has in a bag.

g:::;;lf Number
Black 3
Blue 2
White 1
Green 2
Yellow 2
Red 5

What is the probability that Darlene will pull out a Red, White, or Blue gumball
without looking?

Show your work or explain how you found your answer.
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S5 Tie table shows the numbér and'color of gumballs Darlene has in abag. -

gt | oo
i Black_ :- -
i Buwe | fi . 2.
j _ Whiite- 1
: - Greens || 2
L vellow | 2
, | Red 5
{-. : What is the probability that Dar!ens will pul.l outia Rcd Whlte .or B]ﬁe gumball

without looking?" 7t

Show: youriwork or exp!am ‘how.you found your.answer.
of Blacft w*h.-re cha. E‘c' aum balls. Tk

T added The Qmun‘rf of Redé'whwe axid bﬁw

_g_um_aﬂs

22. Patterns - MC

These figures follow a growing pattern.

SHSOHSH

Which figure is next in this pattern?

° &v
°
e
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22. Patterns - OE

S-6 These numbers follow a pattern.

900,000, 880,000, 860,000, 840,000,

Which number should be next in this pattern?

Write a sentence that explains how you decided which number to write.

186 A “These niimibess follow a patter.

9[]0 000, 880, 000, 860,000, 840, 000 _?_

: Wluc'h number shnuld be next in thls pattem"@zm : ' B
Wnte a-sentence that-explains how you decided which number to write. s — ﬁld@d 'sf}r\‘}

8’20, 000 -was fhe Next numker in ’d*e oocdern |

bZQOL e Yha Ooddern is decrmasing.

y ’2@ o00Q

-'o;v‘;d'

Jost number in e Doﬁ{%er

1S 840,00p|

Sy ‘L‘ Oy &Lfomo ZD,OOD and ot §20.000, |

# SGB These numhers folluw @ pattern. -

Aiffeceoke

' 900,000, 880,000, 860,000, 840,000, _2

Whmlr number should be next in this pattem'?mo

Write a sentence that explains how you decided which number fo write. t \C.

evuseen ACO0OO ord

BP0C 1s D0 2o L LHauted

vk Xoe Dcﬁs‘iam U\be

aooon

\7g
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S6I  These numbers follow a pattern.

900,000, 880,000, 860,000, 840,000, _ 2

Which number should be next in this pattern?_5,090

Write a sentence that explains how you decided which number to write.

Bp covs  So0/s sigmr $I90

23. Algebraic Concepts - GR

What is the value of x in this equation?

x — 15.2 = 16.1

23. Algebraic Concepts - MC

Solve this equation for n.

O0®O

244 x n=3,172

10
13
17
24
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24. Classification and Logical Reasoning - MC

Four CDs were in a CD player. The first
CD was not country. The hip-hop CD was
immediately before the rap CD. The jazz
CD was third. In what order were the CDs
in the CD player?

® Hip-hop, Rap, Jazz, Country
O Hip-hop, Rap, Country, Jazz
O Country, Rap, Jazz, Hip-hop
@) Country, Jazz, Rap, Hip-hop

24. Classification and Logical Reasoning - OE

S-6 A survey was conducted in an airport, and people were asked where they were traveling.
Of the 75 people who answered the question:
+ A total of 59 said they were traveling to another state.

« A total of 17 said they were traveling to another country.
« 5 said they were traveling both to another state and another country.

» 4 gaid they were doing neither.

Use the Venn diagram to help you solve the problem.

Traveling to Traveling to
another state another country

a. How many people were traveling only to another state?

b. How many people were traveling only to another country?
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Sel A snrvey was conducted in an airport, and peopla were asked where lhe.y were u'avclmg
Of Iha 75 peuple ‘who answered: the queqlmn

. A total of 59 satd they were traveling to another state.

+ A total of 17 said they were traveling to another country.

. 5 said they were lrave].lng both to another state and another country.
T # said they were doing neither.

- Use the Vcnn dtagram to help you ml\;e the Iproh]em.

: _ =
Traveling to Traveling to
another state another country

--a- How -many-people-were traveling only to another state? _b:?—

--b.How many people were tra{.relin'g only to another country? ‘*-1?3

25. Mathematical Applications

E-1 A carpenter wants to build a table and plans to put 12 square tiles on the rectangular
table top.

Show a design the carpenter could use given the following:

There are a total of 12 square tiles that are 6 inches in width.
The design can be either 3 rows of 4 tiles or 2 rows of 6 tiles.
There is a 1-inch space between all tiles.

There is a 2-inch border around the entire tabletop.

Find the total length of the table top. Find the total width of the table top. Label the
total length and the total width of the table top in inches.
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